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Sig. of Candidate. Sig. of Invigilator.
BIOLOGY SSC-I

SECTION — A (Marks 12
d: Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deletingloverwriting is not allowed. Do not use lead pencil.

Biology Annual 2010

Circle the correct option i.e. A/ B/ C | D. Each part carries one mark.
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For Examiner’s use only:

Who introduced the Binomial Nemenciature system?

A Vi Salius B. Carolus Linnaeus

C. Edward Jenner D. Charles Darwin

Which of the following statements is TRUE for all gymnosperms?

A They are vascular plants B. They have vessels in their xylem

c. They are usually found in hot plains D. They are seedless plants

Which of the following characteristic of Viruses is NOT like that of living things?

A Growth B. Reproduction C. Crystals D. Respiration

The figure given below shows a nostoc filament. Where does it fix the nitrogen of the atmosphere?

Bryophytes include

A Liverworts, mosses B. Ferns, gymnosperms

C. Gymnosperms, angiosperms D. Mosses, fungi

Which of the following groups represents the seedless plants?

A Gymnosperms B. Angiosperms  C. Pteridophytes D. Spermataphytes
Which of the following phyla has metameric segmentation in the body of its animals?

A Mollusca B. Nematoda c: Annelida D. Arthropoda

The term 'Cell' was first used by

A Schleiden B. Schwann C. J. Purkindi D. Robert Hook

Which of the following plants has compound leaves?
A, Cotton B. Mulberry C. Peepal D. Amaltas

Which of the following molecules are absorbed by the digestion of carbohydrate and protein in ;
the small intestine?

A Glucose, Amino acids B. Sugar, Fatty acids

C Glucose, Falty acids D Sugar, Amino acids

What is the function of manganese in plants?

A Synthesis of nucleic acids B. Synthesis of chlorophyll

B. Building of amino acids D. Synthesis of carbohydrates
Which of the following paths does air take to enter the human lung?

A Bronchicle — Bronchus — Larynx — Trachea

B Bronchiole — Bronchus — Trachea — Larynx

C. Trachea — Bronchiole — Bronchus — Alveolus

D Trachea — Bronchus — Bronchiole — Alveolus

Total Marks: 12

Marks Obtained: _'j
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BIOLOGY SSC-|

answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers neatly

allowed: 2:40 Hours Total Marks Sections B and C: 53
WOTE:- Answer any eleven parts from section ‘B’ and any two from Section ‘C' on the separately provided

and legibly.

SECTION — B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)
(i) Define the following:
a. Morphology b. Embryology c. Genetics (1+1+1)
(i) a. Why do some animals hibernate themselves in cold season? (2)
b Name two vertebrates that hibernate themselves in the winter season (1)
(iii) Two types of blood are received by the heart of frog during circulation (3)
a Name the veins which supply blood to the heart.
b. Which chamber of the heart receives deoxygenated bload from all parts of the body of frog?
(iv) Write down the salient features of the cell theory presented by Schieiden and Schwann. (3)
(v) Name any three Angiospermic plants from which the products that are used as medicines
are obtained.
{vi) Define the following:
a. Nucleoid b. Rachis N Prothallus (1+141)
(vii) Differentiate between Arteries and Veins. (3)
(viii) Write down the cause of the following diseases:
) a. Beri-beri b. Rickets e Anaemia (1+1+1)
(ix)  Write down the structure of Amoeba. (3)
(x) Write down one function of each of the following:
a. Pyrenoid b. Plasmid c Radula of Snail (14+1+1)
(xt) Differentiate between Aerobic and Anaerobic respiration. (3)
{xii) Write a short note on Carbohydrates. (3)
(xiily  Write a short note on different types of Plastids found in plants. (3)
(xiv) a How do the Parasitic plants obtain their food? (2)
b. Give two examples of Saprophytic plants. (1)
(xv) Write down the structure of Xylem tissue. (3)
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)
Q.3 a Describe the role of Pancreas and Liver in the digestion of food in man. (06)
b. How does digestion of food take place in the stomach of man? (04)
Q4 a Name the chemicals present in the cigarette smoke. Also describe the harmful effects of
each chemical. (05)
b. What is Mutualism? Give two examples of mutualists. (03)
c. Descrihe Cutaneous and Buccal Respiration in frog. (02)
Q.5 a Describe the internal structure of Brassica root. (05)
b. Write down the significance of meiosis cell division. (02)
c. Write down the energy rich compounds which are formed in light reaction of
photosynthesis. % (03)

Biology Annual 2010
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l | Answer Sheet No.

Sig. of Invigilator.

CHEMISTRY SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

0]

(il

(i)

(iv)

(vi)

(wvii)

(viil)

(ix)

(xii)

For Examiner's use only:

Who discovered sulphuric acid?

A Al Jahiz B. Berzelius C Jabar Bin Haiyan D. Aristotle
Mass is neither created nor destroyed, during a chemical reaction but it only changes from one form to
another form. What is this law called?

A Law of definite proportions B. Law of multiple proportions

C. Law of reciprocal proportions D Law of conservation of mass

The atom of which of the following elements is the lightest?

A Hydrogen B. Carbon C. Oxygen D Nitrogen
What are j - rays?

A Protons B. Neutrons C. Electrons D Positrons
In how many groups has the Modern Periodic Table been divided?

A 8 B 18 C 7 D 20
Which of the following will have eight electrons in its outermost sheill?

A. Fe B. K C. " D. cr'
Which of the following compounds changes directly into vapours upon heating?

A Na,CO, B CaCo, G. NH CI D. AlCI,

One dm’ solution has been prepared by dissolving 49 g of sulphuric acid in water. What will be the molarity
of this solution?

A 0.5M B. 0.25M C 0.75M D. 0.125M

What is the process of deposition of a metal on another metal called?

A Electrolysis B Electroplating C Radioactivity D lonization
How many lonisable Hydrogen atoms are there in acetic acid?

A Four B. Two C One D Three

What will be the property of the solution obtained by mixing S0em’ of 0.1 Hydrochloric acid solution in
S0em’ of 0.1M Sodium hydroxide solution?

A. Acidic B. Basic Cc Neutral D. None of these
Which of the following is used to cure the sting of wasp?

A. Vinegar B. Lye

C. Magnesia D. Litmus powder

Total Marks: 12

Jl=

Marks Obtained:
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CHEMISTRY SSC-I

Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)

Q.2  Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (1M x3=33)
(i) Who were Alchemists and what was their idea? 1%+17
(ii) Carbon and oxygen combine to form two types of oxides " 4" and "£" " A" contain 12¢
of carbon with 16g of oxygen, whereas "B” contains 125 of carbon with 324 of oxygen
a. State the law, governing the formation of two different oxides from the same elements A
b. How does the data prove the law? 1%
c Write the formula for oxides "A" and "B" Yat'e
(iii) Complete and balance the following equations:
a. 8y + SO0y — 01
b Na,COy, + HCl o — 01
c. Al + Oy, — 01
(iv) Differentiate between Natural Radioactivity and Artificial Radioactivity. 03
(v) Who discovered neutron? Give two properties of neutrons. 1+2
(vi) What is meant by Law of Octaves? 03
(i) Metallic bond is present in metals. Explain why.
a. Metals are good conductor of electricity. 01
b. High pressure changes the shape of metals. 01
c: The melting and boiling points of metals are usually very high 01
(viii)  Give the electronic configuration of the following elements: | ];-\1.131 17¢ y35.5 03
(ix) Define hydrogen bonding. 03
(x) Define the following:
a. Saturated solution 1%
b. Super saturated solution 1%
(xi) Define electrochemistry. 03
(xil) Differentiate between Electrolytic cell and Voltaic cell. 03
(xiii) ~ What is the sum of pH and pOH in solution? If a solution has pH 5.5, what will be its pOH? 03
(xiv)  What do you know about spectator ion? 03
(xv) Differentiate between heat of reaction and enthalpy of reaction. 03
SECTION - C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3  Define Modern Periodic Law. Give any SIX features of the Modern Periodic Table. Write down trends in the
electron affinity and ionization energy of elements in groups and periods. 2+6+2
Q.4  Define chemical reaction. Explain types of chemical reactions with one example of each,
Write down balance chemical equation in support of each type. 24444
Q.5  Whatis Solubility? Describe the various factors which affect solubility? 2+8

—— 1SA-1008 (L) —
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COMPUTER SCIENCE SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself. It
should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i) Which of the following is NOT a high level language?

A BASIC B FORTRAN

Cc Assembly Language D. Cand C+ +
(ii) What is called the brain of computer?

A, RAM B CPU C. ALU D. cu
(iii) The second generation computer used

A IC's B. Microprocessor

C VLSI chip D. Transistors
(iv) The System BUS is used to connect the

A CPU B. Input/Output Devices

Cc Main Memory D All of these
(v) Flat Panel Monitors are usually used in

A Portable Computers B Super Computers

Cc Personal Computers D Mainframe Computers
(vi) Hard Dick is a/an disk that stores data

A Read only B Optical C. Magnetic D. Laser
{wii) In computer, data/instructions flow in group of bits called

A Words . B Bits o Nibbles D Bytes
(viii) 1 kB is equal to

A 1000 bytes B 2'% bytes C 2'% bits D 2% bytes
{ix) Windows

A have a GUI B. is not an operating system

&4 Is a compiler D. All of these
(%) What is the function of dir *.*?

A Lists all the files of extension.doc B. Lists all the files

C. Lists all files of name sample D None of these
(xi) Computer virus is simply a

A Disease B Computer Code

(o3 Type of bacteria D Hardware component
(it What does ENIAC stand for?

A Electronic Numerical Integrator and Calculator

B Electronic Numerical Integrator and Calculation

c Electrical Numerical Integrator and Calculator

D Electrical Numerical Integrator and Calculation

For Examiner’s use only:

Total Marks:

L

Marks Obtained:
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COMPUTER SCIENCE SSC-I

ime allowed: 2:40 Hours Total Marks Sections B and C: 43

NOTE:- Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 27

Q.2 Answer any NINE parts. The answer t= each part should not exceed 3 to 4 lines, (9x3=27)
(i) Briefly write the reasons for using computers in Banks?
(ii) What is compiler? How does it differ from an interpreter?

(lii) What is the difference between Low level and High level languages?

(iv) Differentiate between System Software and Application Software

V) What is the difference between Computer Hardware and Software?

(vi) Write a short note on Computer Storage.

(vii) What is Port? Differentiate between Serial Port, Paralle! Port and USB Port.

(viii)  What is voice recognition software? (ix) What is Plotter?
(x) Write briefly about the following DOS commands:
a. SYS b. EDIT C. XCOPY

(xi) What is an Operating system? List important functions of operating system.
(xii) What is Windows Explorer? How can we start Windows Explorer?
(xiii) ~ How does a computer get a virus?

SECTION - C {Marks 16)
Note: Attempt any TWO questions. Each question carries equal marks. (2x8=18)
Q.3 What is CPU? Describe its different units.
What is Internet? Describe its importance in society.
What is a System Bus? Differentiate between Data bus, Address bus and Control bus
What are Impact Printers? Also explain Dot-Matrix Printers and Daisy-Wheel Printers.
What are the steps for shutting down and restarting Windows?
What are the benefits of using anti-virus programs?

(27 /U( )r:: -~
(re=rxs) ..u..'{.:—LLﬂu.a‘-fulf'ch- L7 (09):’:-(3:24;;)’.5-3-# :VEU""’_
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‘<. J/YLt Software ./Computer Hardware )
_&£,73 /4 USB Port .siParallel Port, Serial Portfet Port  (vi) -u:'g.-ﬁ f'/‘?{Compu!er Storage (vi)
e/ Plotter (i) f« " Voice Recognition Software  (vii})
&E.F 1% A AL DOS Commands Uiz (%)
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_&5 47 (functions) 28417 Operaling System®e Operating System (i)
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Sig. of Candidate. Sig. of Invigilator.

ENGLISH COMPULSORY SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B / C / D. Each part carries one mark.

(i)
(i)

(iii)

(iv)

W

(vi)

(vil)

(wili)

(ix)

(x)

(i)
(xii)
(xill)
(xiv)

(xv)

Road accidents are mostly caused by

A Traffic police B. Animals Cc People D Speed breakers
Who is the poet of poem “Truth—the Best™?

A William Wordsworth B. Leigh Hunt

C. Thomas Millar D. Elizabeth Turner

“This was a glorious achievement'. What is the meaning of the underfined word?

A, Famous B. Splendid C. Smooth D. Justice
“He is famous for his justice”. What is the underlined word in grammar?

A An adjective  B. A noun C. A verb D. An adverb
In the poem "Truth—the Best" when Rebecca broke a china basin, what was the reaction of her mother?
A She became angry B She praised her

€. She punished her D. She forgave her

"It had been raining for five hours". What tense is it?

A, Past Perfect B Present Perfect

Cc Present Perfect Continuous D. Past Perfect Continuous

Which of the following sentences is CORRECT?

A He was married with Rehana. B. He was married to Rehana

C. He was married from Rehana. D. He was married by Rehana.

The prisoners of the battle of Badr were asked to

A, Do business B. Teach the children of the Muslims
C. Construct buildings D. None of these

What are the essential features of human activity?

A. Exercises B. Speech C. Sports D. Plays
Who was blamed for the negligence of “Fatima Park" by the women?

A District Nazim B. Deputy Commissioner

C. RDA D. Municipal Authorities

What day does the Christian calendar (Gregorian calendar) start on?

A. 1st January B. 1st December C. 1st April D. 1st June
What profession does an editor belong ta?

A Agriculture B Journalism C Films D. Medical

If it is necessary to brand an animal, where on its body should it be branded?

A Legs B. Ears C. Neck D. Back
Which of the following words is NOT synonym to the word ERADICATE?

A " Remove B. Flourish C. Destroy D. Uproot
Choose the correct spelling.

A Enviorment B. Envirement C. Invironment D. Environment

For Examiner’s use only:

English Annual 2010

Total Marks:

NE

Marks Obtained:
—— 1SA-1001 (L) —



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

ENGLISH COMPULSORY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer all the questions from Section ‘B' and ‘C' on the separately provided answer book.
Use supplementary answer sheet i.e. Sheet-B if required. Write your answers neatly and legibly.

SECTION - B (Marks 39)

Q.2 Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.
(6x3=18)

(i) What was the behaviour of the Arabs with women before the advent of Islam?

(i) What are the characteristics of a good ruler? (Refer to the lesson “The Chinese Wisdom")

(iii) Describe the difference between rural and urban life

(iv) How can a driver avoid road accidents?

(v) What title was given to Hazrat Khalid bin Waleed (R.A) by Hazrat Muhamamd (PBUH) and why?
(i) What is the importance of rain for our life?

(vii) How can you save nature in its original form?

(viii) ~ What is the importance of extra-curricular activities in our lives?

Q3 A Paraphrase any ONE of the following stanzas: (03)
(i) Yet, of the dark | have no fear, (i) For oft when on my couch | lie,
But feel as safe as when it's light; In vacant or in pensive mood,
For | know God is with me there, They flash upon that inward eye,
And He will guard me through the night. Which is the bliss of solitude;
B. Read the following stanza carefully and answer the questions given at the end: (06)

And with a look made of all sweet accord,
Answer'd, ‘'The names of those who love the Lord’,
'And is mine one?' said Abou. ‘Nay, not so',
Replied the angel

Questions:
(i) What is the significance of the stanza?
(i) What did Abou ask the angel?
(iii) Which poem have these lines been taken from?
Q.4  Change the voice of any FOUR of the following sentences: (04)
(i) The farmer kills a snake. (ii) Open the deor.
(iii) Did you visit the zoo? (iv) The thief is being caught by the police
(v) She has not beaten the dog. (vi) Will the officer warn the peon?
(vii)  Who was knocking at the door?
Q.5 Use any FOUR of the following phrasal verbs in sentences: (04)
() Break into (i) Come off (iii) Give up (iv) Do without
(v) Make up (vi) Look after (vii) Take for
Q.6 Punctuate and capitalize the following paralline(s): (04)

suddenly a voice came from the dining table one fine day today we shall take hamid to the liberty market

SECTION —~ C (Marks 21

Q.7  Write a letter to your friend condoling the death of his father, (08)
-OR-
Write a letter to your sister thanking her for a gift,
Q.8  Write a paragraph of about 50 to 70 words on “The Role of Games in Our Life” with the help of the
following word bank: (08)
necessary part—improve heaith—compete—discipline—sound body—sound mind—teenagers—self control

mentally alert—courage
Q.8  Translate any FIVE of the following sentences into English: (05)

LS thwfuils Y S EYF s D
-J.'.n;";’f.d/:‘."_.,j i ?d‘..l:u‘_.).g;{ ;.jlsuc..‘-"f...l:" PR [ o
...\:l_d'u'/pu i -é‘.l:ﬂ?u_'rf las Y -?i.‘iu:';_‘ur’ef_ja,- -8

-OR-
Write a dialogue between the teacher and the student who reaches school late

—— 1SA-1001 (L) —
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Roll No. !_—r—[_ l | I 7 Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

ISLAMIYAT (COMPULSORY) SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of ‘s section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C | D. Each part carries one mark.

(1)

(1)

(i)

(iv)

v)

(vi)

(vii)

(viil)

(ix)

{x)

xi)

[xii)

[xiii)

(xiv)

(xv)

What does I'q'fv'.;l,t mean?

A Lamp that gives light B Pretty

o Courageous 5} Clapping

What does Ji1 mean?

A Victory B. Trade goods

C. Household articles D Booty

What does A .J. mean?

A The securers B. The fearers

c Those who give profit D. Those who forbid

What does i.+~ mean?

A Hidden B. Rejected C. Wiritten D. Erased
How many ways are there to express thanks (5= ) of Allah?

A Four B. Five G Three _ D. Seven
Which surah has the given verse been taken from 43 esadl 2af i alh &t jaiér) o

A Al-Anfal B Al-Ahzaab C. Al-Bagarah D. Al-Mumtahanah
How many verses are there in surah Al-Anfal?

A, 73 B 75 C. 13 D. 70
'Cleanliness i1s a part of faith'. The given statement is a

A Verse B Hadith

c. Saying of Hazrat Ali (RA) D. Saying of Hazrat Abu Bakr (RA)
Which battle has been called The Day of Discrimination (J8_ill a )7

A Battle of Uhad B. Battle of Badr

C. Battle of Khandiq D. Battle of Khyber

The literal meaning of Zakat is

A, To cheat B. To love people C. To give charity D. Purification
What does 17| mean?

A The clans B. Trench C. Family D. War tools
Which of the following Prophets has been called LJI'('; in the Holy Quran?

A Hazrat Ayub (AS) B. Hazrat Dawood (AS)

c Hazrat lbrahim (AS) D. Hazrat Nuh (AS)

According to Surah-al-Furqan what type of Jihad has been termed as(' ) "Jihaadan kabeeraa"?
A Jihad bil-Nafs B. Jinad through knowledge

C Jihad bil-Mal D. None of these

In Surah Al-Mumtahanah, which of the following women have been asked to be examined?
A, Non-believer women B. Polytheistic women

c Ansari women D. Fugitive believing women

In how many years did the Holy Quran reveal?

A About 23 years B. About 24 years

C. About 25 years D. About 26 years

For Examiner's use only:

Islamiyat Annual 2010

Total Marks: [15 ]
[ ]

Marks Obtained:
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ISLAMIYAT (COMPULSORY) SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer all the questions from Section ‘B' and any two questions from Section 'C' on separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 38)
Q.2 a Translate any TWO of the following Quranic Verses:- (2x4=8)

0 Mo 1212 I8 720 5 IR S 068 G 5 Gl gl 93 7 12 0y !

E SPSTTY T I Py | T E Gl PR N DU QU At R S S i ST I SN K P -
0 83485 J13353 5 i 3 il (KA AL 30 K00 G LRy i

IS R O T AT Py TPy PR e e ¥e oo @ Bed s »
0 il DS 1505 0 om0l gy s 030 iy a8 S SEa i 8y i)

b. In the Quranic Verses and their translation given below write in detail the meanings
of any FOUR the underlined words:- (4x2=8)

o L 0V S 5 o DY A S i)
Translation: ' ’ '

(O Muhammad! Remember) when the disbelievers were plotting against you to imprison you
or to slay you or to drive you forth, they were plotting, but Allah (also) was plotting.

. s PTINT Y PP SR o bt 3 B2 ga? s ~a % i
Lo Lof L A0Ls ) Ll uds p o0 i el yally el 535 3 A (1)

Translation:

And those who annoy believing men and believing women for that which they have not done,
they bear the guilt of slander and a_manifest (open) sin.
c. Write short answers to any SIX of the following questions:- (6x2=12)

(i) Why did Allah not punish the infidels though they had asked Allzh to accord
punishment to them?

(i) What instruction about sending blessings on the Holy Prophet (PBUH)has been given
to the believers in surah Al-Ahzaab?

(iii) In surah Al-Mumtahanah which good pattern of Hazrat lbrahim (AS) has Allah asked
the Muslims to follow?

(iv) Explain the word “Ehsan”.

(v) Write the two happiness that are blessed to those who observe fast.

(vi) In surah Al-Ahzaab what instructions about veil has Allah given to the Muslim women
and what is the wisdom behind these instructions?

(wil} What did the Holy Prophet (PBUH) say about talking during “Friday address"?

Q.3 Translate and explain any TWO of the given Ahadith and describe how they are related to our
practical life:- (2x5=10)

RSP R AL S (]
~ g A e il 5 AE Qe El e (i)
5 RS B m
SECTION - C (Marks 22)

Note:- Attempt any TWO questions. Each question carries equal marks. (2x11=22)
Q.4 Whatdoes Purification (=l ) mean? Write a brief note on Purification in the light of Quran and
Hadith. Also write the benefits of Purification (2+5+4=11)
Q.5 Whatis meant by Jihad? Write in detail about the types of Jihad. (5+6=11)
Q.6  Write a comprehensive note on the Introduction, preservation and
merits of the Holy Quran. ) (11)
— 1SA-1005 —
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Sig. of Candidate.

Answer Sheet No.

Sig. of Invigilator.

MATHEMATICS SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE:-

Section—-A is compulsory. All parts o
should be completed in the first 2+ minutes and handed ove

Deleting/overwriting is not allowed. Do not use lead pencil.

f this section are to be answered on the guestion paper itself. It
r to the Centre Superintendent.

Q.1

Maths Annual 2010

Circle the correct option i.e. A/B/C/D. Each part carries one mark.

(i (~-—-2,-1,0,1, 2,————- | can be written
set builder notation.
A {x:xe R} B. {x:xew}] C fx|xez} D.
(i) The Rangeof R={(1, 0).(2, 1).(4, 3){ is
A {2, 3, 4} B. {0, 1; 3 o3 {1, 2, 3} D.
(i) On x— axis, the y —coordinate of every point is
A Zero B. One C. Two D
7
(iv)  The multiplicative inverse of — is
=] p ¥ c = D.
2 2 U‘F
1 o)1 3
v B )
o o 3 2J——
3
10 13 c 13 D
0! il 2 2 0 2
(vi) If A4 =1 then A" isthe of matrix A .
A Multiplicative Inverse B. Additive Inverse
Cc Adjoint D. Additive Identity
(i) Sum of the measures of the interior angles of a triangle is :
A 90" B. 105" C 180" D.
(vilj  The diagonals of a parallelogram each other.
A Congruent B Bisect Cc Trisect D
(ix) The lines which bisect the sides of a triangie perpendicularly are called
A. Medians B. Altitudes
C. Perpendicular bisectors D. Bisectors of segments
2
w (4) =
A 4* B 4 o 4 D.
(xi) The base of the common logarithm is .
Al 10 B. 1 C. e D.
(xiiy  4x’y* +3 is a polynomial of degree .
A 3 B 2 C. 4 D.
(i) (2a+3b)(4a> —6ab+9b" )=
A 8a’ -27b° B, 8a’+270° C 4a’ +9b° D.
(xiv)  Right bisector of a line-segment is
A Not unique Congruent to side
C. i of the side D. Unique
2
(xv) CcUCt = .
A, c B. e’ & " 1} D
For Examiner's use only:
Total Marks:

Marks Obtained:

—— 1SA-1009 (L) —

{x|xeza-2<x<2}
{1, 2, 4}

None of these

360"

Bisect at right angles

[39]

wn

4a’ - 9b’

it
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MATHEMATICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer any twelve parts from Section ‘B’ and attempt any three questions from Section ‘C’ on the

separately provided answer book. Use supplementary answer sheet iLe. Sheet-B if required. Write
your answers neatly and legibly.

Q.2

Note:-

Q.3
Q.4

Q.5

Maths Annual 2010

SECT!'ON — B (Marks 36)
Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
(M If P={x\xez.«;3<x<l} and R:{x}er:xins?} then find Rx P
Gy  A={1,2,3,5 7, B={2, 4, 6}and C={2, 5, 9} then show that
(AUB)UC=AuU(BUC)

1 1
(iii) If —=2+ \.G find the value of x’ ——
x x

Imednel x lozu % 9pul

(Iv) Simpli CPrY ; el
fy ]5,”"_ % 2-" % s-m*.n-l
2.38x3.901 )
(v) Evaluate -——83—— with the help of logarithms
(vii  Forwhatvalue of m is x— 5 afactor of the polynomial 6x' —S5x" —16x+m

(vi)  Use formula to find the product (\/; + J; )[J; ~- \[J_](r +y)
i 1t P(y)= L‘ +2y" 1 find P(-2)

2y
(x) Factorize x'—2x"+2x-1

(x) Factorize |- 64p—_;

(xij Findthe LCM. of (a'+1).(a'+a’+1) and(a’+a+lf

(xiy  Simplify L T T
& +ab+b a-b a =¥
(xiliy  Find the solution set of 2x — Sy=1 and 3x+4y =136 byusing Crammer's rule.

2: 1@ 1 0
(xiv) If A:{i J and B=L A] then find the value of k such that AB = BA

.. |
(xv)  Find the square root of (x‘ + —,)-l- 10[.\' + l)+ 27 . xz0
x X

(xvi)  Write log il in the form of sum or difference of logarithms.
Y2222
(xvii) Findthe H.C.F. of x’+6x +11x+6 and ¥’ +9x* +27x+27 by division method.
(xviii) Factorize 27/’ —8m’ —72im - 64
SECTION - C (Marks 24)

Attempt any THREE questions. All questions carry equal marks. (3x8=24)

If two angles of a triangle are congruent, then the sides opposite to them are also congruent. Prove

The line segment that joins the mid-points of two sides of a triangle is parallel to the third side and 1S

equal to one half of it length. Prove.

Prove that if in any correspondence of two triangles, two angles and one side of a triangle are congruent to the
corresponding two angles and one side of the other, the triangles are congruent.

Draw medians of A XYZ inwhich m£Y =45", mZX =60" and XY =63cm

— 1SA-1008 (L) —

14



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

l 1 ‘ ] | Answer Sheet No.

Sig. of Invigilator.

SECTION — A (Marks 12)

Time allowed: 20 Minutes

PHYSICS SSC-I

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) Which of the following is a derived unit?
A Second B Metre o4 Kilogram D. Newton
(i) The matter of the Sun is in state.
A Solid B Gas C. Plasma D Liquid
(iii) What is the distance of the moon from the earth?
A 1.5%10" m B. 3.8x10"m C. 4.3x10" m D 20x10%m

(iv) The flight of a butterfly is an example of

A Linear Motion B. Circular Motion
C. Random Motion D. Rotatory Motion
(v) What is the value of gravitational acceleration?

A 980 ms B. 9.8ms™’ C. 08 s’ D 0.98ms™
(vi) A ball is dropped from the top of the tower. What is the distance covered by it in the first second?
A 100 Metre B. 10 Metre C. 50 Metre D. 5 Metre

(vii) What is the value of sin30"?
3

1 | |

A = B — C - D —r
2 J3 2 V2
{will) What is the: unit of torque, in the system of international unit?
A Newton second B Newton
C Newton metre D. Newton per second

(ix) Rate of doing work with respect to time is called.

A Force B Power C. Energy D Work
(%) What is the Mechanical Advantage of Single Movable Pulley?

A 1 B. 2 C. 3 D +
(xi) When water changes into ice, what happens with it?

A Contracts B. Expands C. Become dense D Remain same
(xii) Which material is better for insulation?

A Glass B Brass C. Air D Fibre glass

For Examiner's use only:

Total Marks:

12
Marks Obtained: |

— 18A-1007 (L) —
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PHYSICS SSC-I

ime allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section 'B' and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2  Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)

(1)
(it}
(lii)

Define Nuclear Physics, Geo Physics and Plasma Physics.
What is Personal Error? How are the Personal error and Random error minimized?
Differentiate between Speed and Velocity

(v) State Newton's First law of motion. Why is this first law of motion also known as law of inertia?
(v) \What causes friction between the two surfaces?
(vi) Under what condition the distance and displacement between two points will be eqgual?
(i) What is Centrifuge? What is its funciicn?
(vill)  What do you know about Interconversion of Kinetic Energy and. Potential Energy of free falling bodies?
(ix} What is lever? State the principle of lever.
(x) While constructing bridges, one end of the beam is placed on rollers Why?
(xi) Define Latent Heat of Fusion and Latent Heat of Vaporization
(xii) State the Right Hand Rule.
(xiiiy  Define Stress and Pressure
{xiv) A body moves along a straight line from rest with an acceleration of 2 ms™ . Calculate the time taken by
it to cover a distance of 100m .
(xv)  Television announced 30" C temperature of Lahore. How much this temperature be in Fahrenheit and
Kelvin Scales?
SECTION - C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a State and prove the law of conservation of Momentum with one example 1+4
l 5
b. Prove that S=1v, t+5ar 03
e. A car is moving with an acceleration of dms™ Ifits velocity at a certain instantis 10ms ™' then
determine how much distance it will cover in the next 5 seconds. 02
Q.4 a What is meant by resolution of vectors? How will you find rectangular components, magnitude and
direction of resultant vector? 1+5
b. A man pulls a car with a force of 70 N making an angle of 30" with the horizontal direction
Find out the x and y components of this force 03
C. Define Equilibrium 01
Q5 a State and prove the Archimedes principle 145
b. Define volume expansion and prove that I, =V ﬁ +p(h,-T, }] 03
c. Define Radiation. 01

Physics Annual 2010

—— 1SA-1007 (L) —
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RoHNo.’ 1 ] |

[ |

Sig. of Candidate:

Sig. of Invigitator: ______
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